
  

Tabular Statements 
 

Theory 
 

A tabular statement shows the effect of a number of transactions on the assets and 
liabilities of a business. The assets and liabilities are laid out in column form and, as 
assets equal liabilities, the total of assets and liabilities always equal each other after 
every transaction.  

If an asset increases in value, then another asset must decrease in value or a liability 
must increase in value by the same amount, e.g. bought a machine for €6,000; 
machinery goes up by €6,000 and cash goes down by €6,000. The total of the assets 
does not change and assets equal liabilities.  

In a tabular statement the assets and liabilities are listed at the beginning of the 
period. As transactions occur, the effect on the asset or liability is show. At the end 
of the period the net effect is reflected in the final figures.  

Procedure 
 

1. List all the assets and liabilities from the given information in vertical format. 
Leave blank spaces for entering other assets and liabilities that might be in 
question.  

• Note:  
o Bank overdraft can be entered in the asset section as a minus 

figure 
o Depreciation is entered in the asset section as minus figures 
o Do not enter the net figure for fixed assets (cost-depreciation) 
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2. Figure out which two or more accounts are affected by each transaction. 
3. If one asset is increased, then another asset must be decreased or a liability 

must be increased. 
4. Adjust the profit and loss balance with any profit or loss resulting from a 

transaction. 
5. Ensure that total assets and liabilities are ascertained at the end of the period.  

 

Examples of Transactions: 

§ The purchase of a Business, ensure to check for Goodwill. 
§ Revaluation of an Asset 
§ Disposal of an asset 
§ Bad debt and Bad debt recovered 
§ Dividends 
§ Depreciation 
§ Issue of shares and share of premium 
§ Prepayments and dues 
§ Sales, sales returns, purchases and purchases returns. 

Some typical transactions: 

(1) Buying a new business. Remember that if the money paid for the new business is 
less than the value of the business, then there is goodwill (a new asset).  

(2) Buying/selling goods on credit or for cash. Stock goes down by the cost value, 
Debtors/cash go up by the sales value, and the rest is profit. 

(3) Returning goods previously sold. Reverse of (2). 

(4) A debtor going bankrupt. Debtors go down by the value of the debt, bank goes up 
by the cash received and the rest is a bad debt (retained profit goes down). 

(5) A previously written off bad debtor decides to pay back their debt. Reinstate the 
debt (opposite of (4)). 

 



 

 

(6) Revaluation of Fixed Assets. Cancel depreciation, increase the value of the Fixed 
Asset and the two amounts are added to Revaluation Reserve (liability). 

(7) Depreciation of Fixed Assets. Increase Provision (=minus a minus asset) and reduce 
Retained Profit.  

(8) Sale of Fixed Assets at a profit or loss. Cancel the depreciation written off over 
the years (=plus Provision), reduce the value of the Fixed Asset, increase the bank, 
and adjust the Retained Profit with the Profit or Loss. 

(9) Issuing shares at a premium. Increase the Issued Capital with the number of 
shares issued, increased the Bank with the money received, and add the premium to 
Share Premium account.  

(10) Direct debits and credit transfers for incomes and expenses including prepaids. 
Adjust the bank for the money paid/received, adjust the Retained Profit for the 
Incomes and Expenses incurred and create new prepaid Asset and/or Liabilities. 

 

 

 

 

 

 

 

 

 

 

 

 



 

Let’s take a look at an example: 

Q18.1 

The following balance sheet shows the financial position of Walker Ltd as at 
31/3/2016: 

 

The following transactions took place during the month of April 2016: 

April 2:    Bought a new can for €36,000 by cheque. 

April 6:    Sold goods on credit, which cost €3,000, to a debtor for €3,500 

April 9:    Paid a cheque, €300, to a creditor. Discount received €20. 

April 14:  Invested €1,000 lotto win in the business. 

April 20:  Bought goods on credit for €5,000 

April 26:  Paid rates due by cash. 

You are required to: 

a) Record on a tabular statement the effect that each of the above transactions 
had on the relevant asset and liability. 

b) Figure out the total assets and liabilities on 31/3/2016. 

Fixed Asset s
Buildings 3 2 0 ,0 0 0 .0 0€    
Mot or Vechicles 4 5 ,0 0 0 .0 0€      

3 6 5 ,0 0 0 .0 0€    

Current  Asset s
St ock 4 0 ,0 0 0 .0 0€      
Debt ors 2 5 ,0 0 0 .0 0€      
Cash 10 ,0 0 0 .0 0€      

75 ,0 0 0 .0 0€      
Less Credit ors:amount s f alling due wit hin one year
Trade credit ors 3 0 ,0 0 0 .0 0€      
Rat es due 1,0 0 0 .0 0€        
Bank overdraft 14 ,0 0 0 .0 0€      4 5 ,0 0 0 .0 0€      3 0 ,0 0 0 .0 0€      

3 9 5 ,0 0 0 .0 0€    

Financed By:
Capit al 3 9 5 ,0 0 0 .0 0€    

3 9 5 ,0 0 0 .0 0€    

Balance Sheet  as at  3 1/ 3 / 2 0 16



 

 

 Q18.2 

The following balance sheet shows the financial position of James Ltd as at 1/1/2006: 

 

 

0 1/ 0 4 / 2 0 16 Apr- 0 2 Apr- 0 6 Apr- 0 9 Apr- 14 Apr- 2 0 Apr- 2 6 Tot al
Asset s € € € € € € € €
Building 3 2 0 ,0 0 0 .0 0€  3 2 0 ,0 0 0 .0 0€  
Mot or Vans 4 5 ,0 0 0 .0 0€   3 6 ,0 0 0 .0 0€   8 1,0 0 0 .0 0€    
St ock 4 0 ,0 0 0 .0 0€   3 ,0 0 0 .0 0-€     5 ,0 0 0 .0 0€     4 2 ,0 0 0 .0 0€   
Debt ors 2 5 ,0 0 0 .0 0€   3 ,5 0 0 .0 0€     2 8 ,5 0 0 .0 0€   
Cash 10 ,0 0 0 .0 0€    1,0 0 0 .0 0-€     9 ,0 0 0 .0 0€     
Tot al 4 4 0 ,0 0 0 .0 0€  3 6 ,0 0 0 .0 0€   5 0 0 .0 0€       5 ,0 0 0 .0 0€     1,0 0 0 .0 0-€     4 8 0 ,5 0 0 .0 0€  

Liabilit ies
Credit ors 3 0 ,0 0 0 .0 0€   3 2 0 .0 0-€       5 ,0 0 0 .0 0€     3 4 ,6 8 0 .0 0€   
Rat es due 1,0 0 0 .0 0€     1,0 0 0 .0 0-€     
Bank 14 ,0 0 0 .0 0€    3 6 ,0 0 0 .0 0€   3 0 0 .0 0€       1,0 0 0 .0 0-€     4 9 ,3 0 0 .0 0€   
Capit al 3 9 5 ,0 0 0 .0 0€  1,0 0 0 .0 0€     3 9 6 ,0 0 0 .0 0€  
Net  P rofit 5 0 0 .0 0€       2 0 .0 0€        5 2 0 .0 0€       
Tot al 4 4 0 ,0 0 0 .0 0€  3 6 ,0 0 0 .0 0€   5 0 0 .0 0€       -€           -€           5 ,0 0 0 .0 0€     1,0 0 0 .0 0-€     4 8 0 ,5 0 0 .0 0€  

Tabular St at ement

Fixed Asset s Cost Depreciat ion Book Value Tot al
Buildings 6 0 0 ,0 0 0 .0 0€      12 ,0 0 0 .0 0€    5 8 8 ,0 0 0 .0 0€  
Equipment  2 8 ,0 0 0 .0 0€       8 ,0 0 0 .0 0€     2 0 ,0 0 0 .0 0€   
Mot or Vehicles 76 ,0 0 0 .0 0€       2 6 ,0 0 0 .0 0€   5 0 ,0 0 0 .0 0€   

70 4 ,0 0 0 .0 0€      4 6 ,0 0 0 .0 0€   6 5 8 ,0 0 0 .0 0€  6 5 8 ,0 0 0 .0 0€      

Current  Asset s
St ock 8 6 ,0 0 0 .0 0€   
Debt ors 4 1,0 0 0 .0 0€    

12 7,0 0 0 .0 0€   

Less Current  Liabilit ies 
Credit ors 5 3 ,0 0 0 .0 0€   
Bank 2 7,0 0 0 .0 0€   8 0 ,0 0 0 .0 0€   
Working Capit al 4 7,0 0 0 .0 0€       
Tot al Net  Asset s 7 0 5 , 0 0 0 . 0 0€    

Financed By:
5 0 0 ,0 0 0  ordinary share capit al
at  €1 each 5 0 0 ,0 0 0 .0 0€      
P rofit  and Loss balance 2 0 5 ,0 0 0 .0 0€      
Capit al Employed 7 0 5 , 0 0 0 . 0 0€    

Balance Sheet  as at  1/ 1/ 2 0 0 6



 

 

The following transactions took place during the year: 

January: James Ltd bought a business consisting of buildings €120,000, stock 
€5,000, motor vehicles €15,000 and creditors €30,000. He paid for it by 
granting the seller 100,000 shares in James Ltd at a premium of 20c per 
share.  

February: Sold goods on credit which cost €12,000. The selling price is at a mark-up 
on cost of 25%. 

March: The above goods were returned and a restocking charge of 10% was 
applied.  

April: Equipment which cost €6,000 was traded in against new equipment costing 
€15,000. The amount paid by cheque after allowing for the old equipment 
was €7,200. Depreciation to date on the old van was €3,000.  

August: Paid by cheque a creditors account of €1,000 and received a discount of 
€100.  

September: Buildings are revalued at €400,000 from €250,000.  

October: Received a bank statement on 31 Sep 2006 showing a direct debit of 
€6,000 to cover insurance to 31/3/07 and a credit transfer received of 
€600 representing six months from 1/9/06.  

 

You are required to: 

a) Record on a tabular statement the effect that each of the above transactions 
had on the relevant asset and liability.  

b) Ascertain the total assets and liabilities on 31/12/2016 

 

 

 

 

 

 



 

 

 

 

  

3 1/ 12 / 2 0 0 6 J an Feb Mar Apr Aug S ep Oct Dec Tot al
Asset s € € € € € € € € € €
Building 6 0 0 ,0 0 0 .0 0€  12 0 ,0 0 0 .0 0€  15 0 ,0 0 0 .0 0€  8 70 ,0 0 0 .0 0€    
Equipment 2 8 ,0 0 0 .0 0€   9 ,0 0 0 .0 0€     3 7,0 0 0 .0 0€      
Mot or Vans 76 ,0 0 0 .0 0€   15 ,0 0 0 .0 0€    9 1,0 0 0 .0 0€      
Dep.  Building 12 ,0 0 0 .0 0-€    12 ,0 0 0 .0 0€    -€             
Dep.  Equipment 8 ,0 0 0 .0 0-€     3 ,0 0 0 .0 0€     5 ,0 0 0 .0 0-€       
Dep.  Mot ors 2 6 ,0 0 0 .0 0-€   2 6 ,0 0 0 .0 0-€      
St ock 8 6 ,0 0 0 .0 0€   5 ,0 0 0 .0 0€     12 ,0 0 0 .0 0-€    12 ,0 0 0 .0 0€    9 1,0 0 0 .0 0€      
Debt ors 4 1,0 0 0 .0 0€    15 ,0 0 0 .0 0€    13 ,5 0 0 .0 0-€    4 2 ,5 0 0 .0 0€      
Goddwill 10 ,0 0 0 .0 0€    10 ,0 0 0 .0 0€      
Insurance prepaid 6 ,0 0 0 .0 0€     4 ,5 0 0 .0 0-€     1,5 0 0 .0 0€        
Tot al 78 5 ,0 0 0 .0 0€  15 0 ,0 0 0 .0 0€  3 ,0 0 0 .0 0€     1,5 0 0 .0 0-€     12 ,0 0 0 .0 0€    -€           16 2 ,0 0 0 .0 0€  6 ,0 0 0 .0 0€     4 ,5 0 0 .0 0-€     1,112 ,0 0 0 .0 0€    
Liabilit ies
Credit ors 5 3 ,0 0 0 .0 0€   3 0 ,0 0 0 .0 0€   1,0 0 0 .0 0-€     8 2 ,0 0 0 .0 0€      
Bank 2 7,0 0 0 .0 0€   7,0 0 0 .0 0€     9 0 0 .0 0€       5 ,4 0 0 .0 0€     4 0 ,3 0 0 .0 0€      
Share capit al 5 0 0 ,0 0 0 .0 0€  10 0 ,0 0 0 .0 0€  6 0 0 ,0 0 0 .0 0€    
P rofit  and loss 2 0 5 ,0 0 0 .0 0€  3 ,0 0 0 .0 0€     1,5 0 0 .0 0-€     5 ,0 0 0 .0 0€     10 0 .0 0€       4 ,10 0 .0 0-€     2 0 7,5 0 0 .0 0€    
Share P remium 2 0 ,0 0 0 .0 0€   2 0 ,0 0 0 .0 0€      
Reval.  Reserve 16 2 ,0 0 0 .0 0€  16 2 ,0 0 0 .0 0€     
Rent  rec.  due 6 0 0 .0 0€       4 0 0 .0 0-€       2 0 0 .0 0€         
Tot al 78 5 ,0 0 0 .0 0€  15 0 ,0 0 0 .0 0€  3 ,0 0 0 .0 0€     1,5 0 0 .0 0-€     12 ,0 0 0 .0 0€    -€           16 2 ,0 0 0 .0 0€  6 ,0 0 0 .0 0€     4 ,5 0 0 .0 0-€     1,112 ,0 0 0 .0 0€    
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